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B.Sc. (Part-1) EXAMINATION - 2022

(Faculty of Science)
[Also common with Subsidiary Paper of B.Sc. (Hons.) Part-1]
(Three-Year Scheme of 10+2+3 Pattern)

CHEMISTRY - 11
Organic Chemistry
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(). Attempt five questions in all, selecting one question from each Unit.
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(1).  Write your roil number on question paper before start writing answers of questions.
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UNIT-1/T&13-1

1 Arrange the following in decreasing order of stability.
mﬁmm%mmmmu

(@)  CH;-CH,®, cH,®, (CH,),c®, (CH,),CH® 1%
®) CgH;—CHy, CHy-, (CH;),CH,, CH;~CH,- 1%
( CH,=CH-CH,:®, CH,:®, C;H,CH,:©, CH,-CH, :© 2
: ; _

Cl F- CH3\ .CH3\
fdj /C r /C o ,C:, ,C :

cl F CH, H 2

OR / 3tgar
2. Write short notes on the following :

Fefafam v wfaa feafomt fafas .
fa) Benzyne 2
5 Nitrenes 1
e} lewis Acid 3
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3. (a)

()

()

UNIT-11 / ¥&T§-11

Write R/S nomenclature for the given compound.

Frafafe dfel ¥ /s s fafea

®

OH H

COOH C

Write D/L configuration in following.

fr= il § D/L fomam fei
CHO CHj
CH,0H COOH

Draw the Newmann projection formulae for n-Butane.

n- ST F TEION < THY A FawC |

OR / 39qar

Write E/Z nomenclature for the following compound.

=1 &2 n2 it o E/Z w1 iarester Fifaa )

(a) -

()

5. (a)

1171-11

@)

(i)

CH3\._C\,1—C,H CHa\
AN ' (i) L=
H CH,—CH,4 H
H H
“c=¢’ CH, Cl\
CH;” “e=C7 (iv) ,C=C
H/ \H H

Explain the Baeyer's Strain theory.

AW F fagh A F fagia %t =ren i)

UNIT-III / 31§-111

Write short notes on :

frafafen = wfira femfort fafag)

@®

(@)

- (i)

Kolbe electrolysis
Fred faga srqees
Wolff Kishner reduction

i frame sq=gq
Wurtz reaction

T Afufran

H
C/
“CH=CH”

,Br

CH, - CH,

1x2=

1x2=2

2%

lxd=4

2%

1x3=3



(b)  Identify the products in given reactions,

A st e 7 e F
O cHy-cac-n 0%

(i~ CH;—CH=CH, _ﬂ'*_;g_,
' 2

i) CHy-C=C-H —HBr | (e

OR / saar
Complete the following reaction.

et vl a0 7o #ifg

1,0

(i) CHz-CH=CH,

T Con. H,80
) CHa=C-OH 0 T,

|

CH,

B
) CHz—CH=CH, —Hziig;»

©
; MnO; /H,0
(V)  cH,-CH=CH, —— 2>

(v CH,-CH=CH, —HOCl ,
| Mn0}
« H,0
UNIT-IV / $&E-1V

7. (a) Write the orbital structure of Benzene. Give the drawback of Kakule structure
= #Y enfizet WraT A T wer fafEy T e S wt @ fafan)

(b) Explain reaction mechanism of the following reaction.

e afufra 1 fman fafy fem )
(i) Sulphonation
eI AF
(i) Friedal craft reaction
firga W AfvfEa
OR / A
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1x2=2

1'%

1x5=5

1'%

[

2%
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10.

(a)  Explain the aromaticity of following.

Frer 1 e 2 frdrerm i
CH
W ™Ne
(1) (ii)
CH ==
*‘*CH/ N
(b) Complete following reaction's

=1 sifuferansil & qof =4
CH,

() Con. HNO,4
H,S0,

T
. (CH;-C7),0
(i1) >
AICl,
CH;-CH=CH,
(iii) AICl, —

UNIT-V / 3&18-V
(a) How you can obtained CHCI,; from Ethanol/Acetone ?
CHCIl, %! gaAta 1 U2 A &9 wra =10 ?
(b)  What happens when CHCl, reacts with :
S CHCl, =1 & | sifvufenar sear &, a= & .

0
; ” 1
W HNO, @ cH,-C-cH,
OR / 3rera
Complete the following reaction.
fr= sifufsranell 1 qof 04
AgNO. | KNO
() CHy-CH,-Br —822 , (i) CHy—CH,-Br ——2
(i) CHy—1 —BCN (iv) CH,-1 —AgCN ,
OH
) cely | ) cHely 48,
NaOH
-o00o-
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1x3=3

1%

2%

2x2=4

1x6=5

1%



